A & 0l & AtES & Al

A

A BHs
3 NI (EEE)
=Hel Fe=AY (SH9 H2)
SA B SABH) - KIRAY - BLS o &r o) 3 o HIDS2
4S8 695,602 591,602 104,000
X aeD(&E48S) 344,000 240,000 104,000
FU=AAL 344,000 240,000 104,000
METHOALY 344,000 240,000 104,000
401 AIEHIL 20| 344,000 240,000 104,000
01 Al&EHI 344,000 240,000 104,000
o ME0IA X ClArY
Z& 200,000,000 200,000 96,000 104,000
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A

A SeH
3 NI MeeD(SaHe)
=Hel Fe=AY (SH9 H2)
A -3 - SRA(3H) - MRAE - BES Ofl &4 I3 A Husz
St 345,350 294,350 51,000
XM aedl(s3te) 166,000 115,000 51,000
FU=AAL 166,000 115,000 51,000
METHOALY 166,000 115,000 51,000
401 AIEHIL 20| 166,000 115,000 51,000
01 Al&EHI 166,000 115,000 51,000
o dEIAXICIA Z& 97,000,0002 97,000 46,000 51,000
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Hu: XIGZRIARIDI (AN
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SA - FE - SRA(3H) - MRAE - BES Off &4 I8N Hws2
A B 414,607 348,607 66,000
NBRIA2IDI(AH) 216,000 150,000 66,000
ZOISRAI 216,000 150,000 66,000
2B 0| A 216,000 150,000 66,000
401 AlSHI L2 CHH] 216,000 150,000 66,000
01 Al&tt] 216,000 150,000 66,000
o MEOIZ 2| At
2 126,000,002 126,000 60,000 66,000
SHNS 4olel YBOIS B2 HEZTA
213 10,000, 0002 0,000 10,000 0
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A

A HHS
M XA HARDI(AAN)

Chel: FOI=SJAALY (SH9 H2)
SN - FH - G(EH) - NRAY - BAS 0 &t N E o HimE==T
AHE 488,522 413,522 75,000
KSGRALZID(AHH) 250,000 175,000 75,000

FOI=RAY 250,000 175,000 75,000
MEHOIALY 250,000 175,000 75,000

401 AIEHIZL 20HY 250,000 175,000 75,000
01 Al&HI 250,000 175,000 75,000

o MERIR ALY
Z 3 145,000,000& 145,000 70,000 75,000
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A

SA: Aas
3 NI ME2(Mae)
=Hel Fe=AY (SH9 H2)
A -3 - SRA(3H) - MRAE - BES Ofl &4 I3 A Husz
Nete 324,830 276,830 48,000
XM & DI(Mae) 158,000 110,000 48,000
FU=AAL 158,000 110,000 48,000
METHOALY 158,000 110,000 48,000
401 AIEHIL 20| 158,000 110,000 48,000
01 Al&EHI 158,000 110,000 48,000
o ME0IA X ClArY & 93,000,000 93,000 45,000 48,000

- 414 -



H & 0l & AHS B Ml A

of
i’
oF
uJ

RNINKS88|8 KN8818[8|8 8
[ NN e N Ne N N>l Ne)] DO |O || O
A |||V NN N RS
KIo
E
E=)
BRI RISI8|I8I8[8 8
S|le|a|e|s|la oSS |S|S|s S
 |S|F|F|F(88 F|8|8|8|8|8 <
RO
~
D
S|B|BIBIE|R E|8|8|8|8|8 &
SIIF[F|3(8|8 88888 8
mmrﬁ
<
=]
ol o
& S
% S
or w_/@ m
X0 x >
oF S
7 s 0
) < "
B 0
g R0
3
. Mw
= i
~ —
=3 — )
@.\ maw._: Mn=__ E=) <
9 o 0
o | ¥ le gl = | =i
vl =180 |00 |z (2 = |l - )
o o | o 1< < o ok | o
= SRz lwln ® |Sla|z|w|w W
¥ N S L I el = i e
. SIR|s|s alw|m|s] s
=< = (% |c) |8 =4l | S |7
I+ = | o) [KF %0 |2l |20
8l ol [ Kk Br | K-
oll | KF =

It

- 415 -



A £ 0l & AF & S

Al A

2A: 20/H
HE: FOITHR JIBH2EHE0IH)
CHRl: FOIEN ERYH(S20/H) (SH &)
M- SA(3) - MRAY - BES (1;| Palgely I & A Hlns
20|19 392,148 326,648 65,500
FOITIR J|er2dsHS0]12) 55,890 51,390 4,500
FOEN HE2H(S01H) 55,890 51,390 4,500
FOITIRIMIE 29 55,890 51,390 4,500
405 XHAaHE S| 4,500 0 4,500
01 AL SEFSH| 4,500 0 4,500
o3|olal B PU(HMa, 9}
4,500,000 4,500 0 4,500
XA R A2 (=201H) 201,000 140,000 61,000
FOI=RAALY 201,000 140,000 61,000
AEHH O ALY 201,000 140,000 61,000
401 AlEHI2L 20 201,000 140,000 61,000
01 Al&HI 201,000 140,000 61,000
o ME0I2 2| ALY
2 111,700,000 111,700 50,700 61,000
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2X: =250
HB: FOINK J|BFASH(E5)
Ol IR ATSH(25HH) (Chel: &)
M- SA(3) - MRAY - BES Ofl &kl I & A Hlns
=5to 375,122 312,192 62,930
ZOIR| J|EHASH (=510 52,790 49,860 2,930
Z0IE0] #H 2 (25101 52,790 49,860 2,930
ZOITXIHIE 29 52,790 49,860 2,930
301 QPP AT 42,350 39,420 2,930
14 J|EFE A2 38,850 35,920 2,930
SXIAZAIX AH| 24
A 25,0002 %0007 14,850 11,920 2,930
NI ZRA2D|(25121) 195,000 135,000 60,000
0152 AL 195,000 135,000 60,000
MEH Ol AL 195,000 135,000 60,000
401 A2 HIL 2 OHY 195,000 135,000 60,000
01 Al&H 195,000 135,000 60,000
o ME0I2 H2| AMYS
2R 111,000,002 111,000 51,000 60,000
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